TEXAS A&M AGRILIFE EXTENSION SERVICE

COLLEGE STATION, TX 77843-2147 PURCHASE ORDER

Buyer NDM

COLL	ecnond	ence	and	backages
con	cspond	ence	and	Jackages

P770080

VENDOR: ******0770

FRESH BABY LLC 523 E MITCHELL ST PETOSKEY, MI 49770-2665

MAIL INVOICE TO AGENCY BELOW:

TX A&M AGRILIFE EXTENSION SRVC TEXAS A&M AGRILIFE EXT. BLT SOUTH CAMPUS BUILDING 1470 WILLIAM D. FITCH PKWY MS 2251 COLLEGE STATION TX 77843-2251

SHIP TO:

TX A&M AGRILIFE EXTENSION SRVC BOOKSTORE WAREHOUSE 2870 N. HARVEY MITCHELL PKWY SUITE 700 BRYAN TX 77807

em	Description	Quantity	UOM	Unit Price	Ext Price
	USER REF: 424170-X1166JM				
	***************************************		с с		
	TERMS AND CONDITIONS OF PURCHASE: AS NOTED AT THE BOTTOM OF THIS PURCHASE ORDER, VENDOR'S ACCEPTANCE IS SUBJECT TO THE AGENCY'S TERMS AND CONDITIONS. THESE SUPERSEDE ANY OTHER TERMS AND CONDITIONS ISSUED BY THE VENDOR. HAVING THE STATUS OF A STATE AGENCY, TEXAS A&M AGRILIFE MUST ABIDE BY THE LAWS OF THE STATE OF TEXAS. ADDITIONAL FEDERAL TERMS AND CONDITIONS ARE ATTACHED.				EMAILE
	THIS PURCHASE ORDER ENCOMPASSES ALL OF THE SPECIFICATIONS AND TERMS & CONDITIONS OF THE ORIGINAL BID #B770009.				
	TERMS OF PAYMENT: NET 30 DAYS UPON RECEIPT AND ACCEPTANCE OF ITEM OR RECEIPT OF CORRECT INVOICE, WHICHEVER IS LATER.				
	PUBLIC INFORMATION: (A) THE VENDOR ACKNOWLEDGES THAT THE AGENCY IS OBLIGATED TO STRICTLY COMPLY WITH THE PUBLIC INFORMATION ACT, CHAPTER 522, TEXAS GOVERNMENT CODE, IN RESPONDING TO ANY REQUEST FOR PUBLIC INFORMATION PERTAINING TO ANY RESULTING AGREEMENT, AS WELL AS ANY OHTER DISCLOSURE OF INFORMATION REQUIRED BY APPLICABLE TEXAS LAW. (B) UPON THE AGENCY'S WRITTEN REQUEST, THE VENDOR WILL PROVIDE SPECIFIED PUBLIC				

FOB: DESTINATION FRT INCLUDED

Terms: N 30

Texas A&M AgriLife cannot accept collect freight shipments.

TERMS AND CONDITIONS OF PURCHASE:

Vendor's acceptance is subject to the Agency's terms and conditions, which are either attached hereto, may be faxed or emailed upon request, or are available at http://agrilifeas.tamu.edu/library/pdf/purchasing/terms-conditions.

The Agency is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the Agency. THIS ORDER IS NOT VALID UNLESS SIGNED BY THE PURCHASING AGENT.

no A Manbelen

PURCHASING AGENT FOR TEXAS A&M AGRILIFE EXTENSION SERVICE

01

TEXAS A&M AGRILIFE EXTENSION SERVICE PURCHASE ORDER

ORDER DATE: 07/06/2017

BUYER: NDM

POINUMBER: P770080

VENDOR: ******0770

ltem	Description	Quantity	UOM	Unit Price	Ext Price
	INFORMATION EXCHANGED OR CREATED UNDER ANY RESULTING AGREEMENT THAT IS NOT OTHERWISE EXCEPTED FROM DISCLOSURE UNDER CHAPTER 522, TEXAS GOVERNMENT CODE, TO THE AGENCY IN A NON-PROPRIETARY FORMAT ACCEPTABLE TO THE AGENCY. AS USED IN THIS PROVISION, "PUBLIC INFORMATION" HAS THE MEANING ASSIGNED IN SECTION 552.002, TEXAS GOVERNMENT CODE, BUT ONLY INCLUDES INFORMATION TO WHICH THE AGENCY HAS A RIGHT OF ACCESS. (C) THE VENDOR ACKNOWLEDGES THAT THE AGENCY IS REQUIRED TO POST A COPY OF ANY RESULTING FULLY EXECUTED AGREEMENT ON ITS INTERNET WEBSITE IN COMPLIANCE WITH SECTION 2261.253(A)(1), TEXAS GOVERNMENT CODE.				
	DEPARTMENT CONTACT: CATHY SCHORN CATHY.SCHORN@AG.TAMU.EDU 979-458-4055				
	 THE FOLLOWING IS INCLUDED IN THE PRICE OF THE LINE ITEMS: ANY APPLICABLE ARTWORK AND SETUP FEES FULL COLOR CUSTOM DESIGN DIGITAL COMPS FOR CUSTOMIZATION APPROVAL DIGITAL PHOTOS AND PHYSICAL SAMPLES FOR APPROVAL OF PRODUCTION SAFETY TESTING: PHTHALATES, CADMIUM, BP-A, AND FDA CFR 177.1460 (FOOD SAFE) NO CHARGE SHIPPING TO ONE LOCATION NO CHARGE CUSTOMIZATION 				
	F.O.B. DESTINATION				
	ESTIMATED DELIVERY DATE: WITHIN 120 DAYS, BEFORE 10/31/2017.				
	ALL ITEMS ARE TO BE WRAPPED AND PALLETIZED. MAXIMUM PALLET HEIGHT: 48"				
	ALL DIGITAL ARTWORK PROOFS ARE TO BE APPROVED BY AGENCY POINT OF CONTACT PRIOR TO FILLING ORDER.				
	***********			· · · · · · · · · · · · · · · · · · ·	
1	8" 4-SECTION MYPLATE - COMIC BOOK DESIGN - ENGLISH ITEM # 55050E	7,500	EA	3.500	26,250.00
	 SPECIFICATIONS: SIZE: 10" X 10" X 0.05" MATERIAL: POLYPROPYLENE (#5PP) DISHWASHER AND MICROWAVE SAFE LANGUAGE: ENGLISH FDA FOOD-SAFE, LEAD, BP-A & PHTHALATE FREE ITEM IS MYPLATE AND DRINK UP! COMPATIBLE AND INCLUDES BOTH LOGOS FOR THOSE INITIATIVES CUSTOMIZATION IMPRINTS IN BLACK: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY 				

TEXAS A&M AGRILIFE EXTENSION SERVICE PURCHASE ORDER

ORDER DATE: 07/06/2017

BUYER: NDM

POINUMBER: P770080

VENDOR: ******0770

ltem	Description	Quantity	NON	Unit Price	Ext Price
	USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU ESTIMATED NUMBER OF PALLETS: 6	2 5			
2	8" 4-SECTION MYPLATE - VINTAGE DESIGN - ENGLISH ITEM # 32020E	7,500	EA .	3.500	26,250.00
	 SPECIFICATIONS: SIZE: 10" X 10" 0.05" MATERIAL: POLYPROPYLENE (#5PP) DISHWASHER AND MICROWAVE SAFE LANGUAGE: ENGLISH FDA FOOD-SAFE, LEAD, BP-A & PHTHALATE FREE ITEM IS MYPLATE AND DRINK UP! COMPATIBLE AND INCLUDES BOTH LOGOS FOR THOSE INITIATIVES DRINK UP LOGO TO BE PLACED ON RIM BETWEEN FRUIT AND GRAIN SECTIONS CUSTOMIZATION IMPRINTS IN BLACK: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU 				
2	ESTIMATED NUMBER OF PALLETS: 6	10 000			
3	MYPLATE SANDWICH BAG - ENGLISH ITEM # 44023E SPECIFICATIONS: - SIZE: 6.5" X 6.5" - MATERIAL: 100% POLYESTER - LANGUAGE: ENGLISH - MYPLATE GRAPHIC ON FRONT - HEALTHY SUGGESTIONS ON BACK OF BAG BY MYPLATE FOOD GROUPS - FILLABLE NAME AND ADDRESS TAG ON INSIDE FLAP - REUSABLE AND HAND WASHABLE - VELCRO CLOSURE EDD FOOD SAFE LEAD FREE	10,000	EA	2.020	20,200.00
	 FDA FOOD-SAFE, LEAD FREE CUSTOMIZATION IMPRINTS IN WHITE: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU ESTIMATED NUMBER OF PALLETS: 1 				
4	MYPLATE SNACK BAG - ENGLISH ITEM # 44021E SPECIFICATIONS: - SIZE: 7.0" X 3.75" - MATERIAL: 100% POLYESTER - LANGUAGE: ENGLISH - MYPLATE GRAPHIC ON FRONT - HEALTHY SNACK SUGGESTIONS ON BACK OF BAG	10,000	EA	1.890	18,900.00

TEXAS A&M AGRILIFE EXTENSION SERVICE

PURCHASE ORDER

ORDER DATE: 07/06/2017

BUYER: NDM

POINUMBER: P770080

VENDOR: ******0770

ltem	Description	Quantity	UOM	Unit Price	Ext Price
	 FILLABLE NAME AND ADDRESS TAG ON INSIDE FLAP REUSABLE AND HAND WASHABLE VELCRO CLOSURE FDA FOOD-SAFE, LEAD FREE CUSTOMIZATION IMPRINTS IN WHITE: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU ESTIMATED NUMBER OF PALLETS: 2 		· · · · · · · · · · · · · · · · · · ·		
5	MYPLATE TOSS UP BEACH BALL	10,000	EA	1.800	18,000.00
J	ITEM # 55004	10,000		1.800	18,000.00
	 SPEICIFCATIONS: SIZE: 15" INFLATED MATERIAL: PP LATEX FREE MYPLATE, FOOD GROUP, ACTIVITY, AND DRINK UP GRAPHICS ON THE BALL MYPLATE TOSS UP GAME CARD INCLUDED; GAME CARD IS BILINGUAL CUSTOMIZATION IMPRINTS IN BLACK OR WHITE: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU 				
	ESTIMATED NUMBER OF PALLETS: 2				
6	KIDS PORTION TIP CARD - ENGLISH ITEM # 44011E	10,000	EA	0.900	9,000.00
	 SPECIFICATIONS: SIZE: 8.5" X 11" MATERIAL: POLYPROPYLENE LANGUAGE: ENGLISH 2-SIDED KITCHEN COUNTER CARD THAT SUPPORTS PROVIDING APPROPRIATELY SIZED PORTIONS FOR CHILDREN RECOMMENDED SERVINGS PER DAY BY FOOD GROUP FOR CHILDREN 2-3 & 4-8 YEARS OLD VISUAL GUIDE TO PORTION SIDE SERVING SIZES BY FOOD GROUP FDA FOOD-SAFE MATERIAL, BP-A, PHTHALATE AND LEAD-FREE CUSTOMIZATION IMPRINTS IN BLACK OR WHITE: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU 				
	ESTIMATED NUMBER OF PALLETS: 1			·	
7	REFRIGERATOR & FREEZER TIP CARD - ENGLISH ITEM # 44025E	10,000	EA	0.900	9,000.00

TEXAS A&M AGRILIFE EXTENSION SERVICE

PURCHASE ORDER

ORDER DATE: 07/06/2017

BUYER: NDM

POINUMBER: P770080

VENDOR: ******0770

Item	Description	Quantity	UOM	Unit Price	Ext Price
	 SPECIFICATIONS: SIZE: 8.5" X 11" MATERIAL: POLYPROPYLENE LANGUAGE: ENGLISH 2-SIDED KITCHEN COUNTER CARD THAT SUPPORTS FOOD SAFETY AND STORAGE TIPS FOR FRIDGE AND FREEZER REFRIGERATOR CLEANING STEPS INCLUDED BEST TEMPERATURE FOR FOODS IN THE FREEZER AND THE FRIDGE QUICK FREEZER TIPS, WHAT NOT TO FREEZE, AND HOW LONG TO FREEZE FOODS FDA FOOD-SAFE MATERIAL, BP-A, PHTHALATE AND LEAD-FREE CUSTOMIZATION IMPRINTS IN BLACK OR WHITE: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU 				
8	ESTIMATED NUMBER OF PALLETS: 1 MYPLATE DAILY FOOD PLAN CARD ITEM # 44020	10,000	EA	0.680	6,800.00
	 SPECIFICATIONS: SIZE: 8.5" X 8.5" MATERIAL: POLYPROPYLENE LANGUAGE: ENGLISH AND SPANISH 2-SIDED KITCHEN COUNTER CARD; BILINGUAL MYPLATE COMPATIBLE AND INCLUDING MYPLATE LOGO ON BOTH SIDES (ENGLISH ON ONE SIDE, SPANISH ON SECOND SIDE) USDA RECOMMENDED AMOUNTS BY FOOD GROUP FOR CHILDREN 2-5 YEARS OLD FOOD GROUP GUIDANCE AND SERVING SIZE EXAMPLES SERVING SIZE EXAMPLES AND HEALTHY EATING TIPS ENGLISH ON ONE SIDE, SPANISH ON SECOND SIDE FDA FOOD-SAFE MATERIAL, BP-A, PHTHALATE AND LEAD-FREE CUSTOMIZATION IMPRINTS IN BLACK OR WHITE: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU 				
9	ESTIMATED NUMBER OF PALLETS: 1 FOOD SAFETY CUTTING BOARD - FRUIT & VEGETABLE	10,000	EA	1.300	13,000.00
	ENGLISH ITEM # 44018E SPECIFICATIONS: - SIZE: 17"W X 11"L - MATERIAL: POLYPROPYLENE (#5PP) - DISHWASHER SAFE - AGE: ADULT - LANGUAGE: ENGLISH				

TEXAS A&M AGRILIFE EXTENSION SERVICE PURCHASE ORDER

ORDER DATE: 07/06/2017

BUYER: NDM

POINUMBER: P770080

VENDOR: ******0770

ltem	Description	Quantity	UOM	Unit Price	Ext Price
	 FDA FOOD-SAFE, BP-A, PHTHALATE, LEAD-FREE CUSTOMIZATION IMPRINTS IN BLACK: LOGO: BETTER LIVING FOR TEXANS STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. DEPARTMENT URL: BLT.TAMU.EDU 		-		
10	ESTIMATED NUMBER OF PALLETS: 1 FOOD SAFETY CUTTING BOARD - PROTEINS - ENGLISH ITEM # 44019E	10,000	EA	1.300	13,000.00
	 SPECIFICATIONS: SIZE: 17"W X 11"L MATERIAL: POLYPROPYLENE (#5PP) DISHWASHER SAFE AGE: ADULT LANGUAGE: ENGLISH FDA FOOD-SAFE, BP-A, PHTHALATE, LEAD-FREE CUSTOMIZATION IMPRINTS IN BLACK: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU 				
11	ESTIMATED NUMBER OF PALLETS: 1 FRIDGE THERMOMETER - ENGLISH	10,000	EA		9,000.00
ŢŢ	 ITEM # 44026E SPECIFICATIONS: SIZE: 4.5" X 2.5" MATERIAL: LIQUID CRYSTAL/PVC LANGUAGE: ENGLISH 2-SIDED INSTRUCTIONAL FRIDGE THERMOMETER INCLUDES SAFE AND UNSAFE TEMPERATURES INSTRUCTIONS FOR USE INCLUDED ON BACK OF ITEM CAN BE HUNG WITH HAND TAG OR ADHESIVE STRIP (INCLUDED) CUSTOMIZATION IMPRINTS IN BLACK OR WHITE: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU 			0.900	5,000.00
12	MYPLATE GROCERY LIST - ENGLISH ITEM # 44010E SPECIFICATIONS: - SIZE: 5.5" X 8.5" - LANGUAGE: ENGLISH - 25 SHEETS PER PAD - COLOR PRINT WITH MYPLATE LOGO - FRONT SIDE ORGANIZED BY MYPLATE FOOD GROUPS TO SUPPORT HEALTHY SHOPPING HABITS - BACKSIDE PROVIDES A GUIDE TO READING	10,000	EA	1.580	15,800.00

TEXAS A&M AGRILIFE EXTENSION SERVICE

PURCHASE ORDER

ORDER DATE: 07/06/2017

BUYER: NDM

POINUMBER: P770080

VENDOR: ******0770

ltem	Description	Quantity	UOM	Unit Price	Ext Price
	NUTRITION FACTS LABELS - SUPPORTS USDA MYPLATE ICON - CUSTOMIZATION IMPRINT IN MAROON AND GRAY: (1) LOGO: BETTER LIVING FOR TEXANS - CUSTOMIZATION IMPRINTS IN BLACK: (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU				
	ESTIMATED NUMBER OF PALLETS: 2				
13	KID'S COMIC BOOK APRON - ENGLISH ITEM # 55006E	6,000	EA	3.600	21,600.00
	 SPECIFICATIONS: SIZE: 14" X 22" MATERIAL: 100% POLYESTER MACHINE WASH COLD, AIR/LINE DRY EASY TIE FOR ADJUSTABILITY; SUITABLE FOR AGES 6-12 MYPLATE AND FOOD GROUP VISUALS AS SUGGESTIONS FOR HEALTHY EATING ITEM IS MYPLATE COMPATIBLE AND INCLUDES BOTH LOGO FOR THE INITIATIVE AND FOOD GROUP ICONS CUSTOMIZATION IMPRINTS IN BLACK OR WHITE: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU 				
	ESTIMATED NUMBER OF PALLETS: 2			· ·	
14	8-OUNCE MYPLATE DAIRY CUP - VINTAGE DESIGN - ENGLISH ITEM # 32021E	7,500	EA	1.970	14,775.00
	 SPECIFICATIONS: VOLUME: EIGHT (8) OUNCES (235 ML) SIZE: 2.3" X 3.8" X 1.8" MATERIAL: PP5 (#5PP) LANGUAGE: ENGLISH INCLUDES 8 OUNCE FILL LINE IN TRANSPARENT BLUE VISUAL AND TEXT FOR BOTH DAIRY GROUP AND MYPLATE DISHWASHER AND MICROWAVE SAFE FDA FOOD-SAFE, LEAD, BP-A & PHTHALATE-FREE ITEM IS MYPLATE COMPATIBLE AND INCLUDES LOGO FOR THE INITIATIVE CUSTOMIZATION IMPRINTS IN BLACK OR WHITE: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU 				
15	8-OUNCE MYPLATE DAIRY CUP - COMIC BOOK DESIGN	7,500	EA	1.970	14,775.00
± 5	ENGLISH ITEM # 55051E	.,		1.970	11,115.00

TEXAS A&M AGRILIFE EXTENSION SERVICE

PURCHASE ORDER

ORDER DATE: 07/06/2017

BUYER: NDM

POINUMBER: P770080

VENDOR: ******0770

ltem	Description	Quantity	NOM	Unit Price	Ext Price
	 SPECIFICATIONS: VOLUME: EIGHT (8) OUNCES SIZE: 2.3" X 3.8" X 1.8" MATERIAL: PP5 (#5PP) LANGUAGE: ENGLISH INCLUDES 8 OUNCE FILL LINE IN TRANSPARENT BLUE VISUAL AND TEXT FOR BOTH DAIRY GROUP AND MYPLATE DISHWASHER AND MICROWAVE SAFE FDA FOOD-SAFE, LEAD, BP-A & PHTHALATE-FREE ITEM IS MYPLATE COMPATIBLE AND INCLUDES LOGO FOR THE INITIATIVE CUSTOMIZATION IMPRINTS IN BLACK OR WHITE: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU 				
16	16-OUNCE SILICONE BAND WATER BOTTLE ITEM # 55000	10,000	EA	2.870	28,700.00
	 SPECIFICATIONS: VOLUME: SIXTEEN (16) OUNCES MATERIAL: PP5 (#5PP) LANGUAGE: ENGLISH ON ONE HALF/SIDE OF BOTTLE, SPANISH ON SECOND SIDE FOUR (4) COLORFUL SILICONE BANDS WITH HEALTHY HABIT MYPLATE MESSAGES BANDS CAN BE MOVED FUNCTION OF BANDS IS FOR USER TO MOVE ONE UP BOTTLE FOR EACH 8 OUNCES OF WATER THEY DRINK DURING THE DAY TOP RACK DISHWASHER SAFE FDA FOOD-SAFE, LEAD, BP-A & PHTHALATE-FREE ITEM IS MYPLATE COMPATIBLE AND INCLUDES LOGO FOR THE INITIATIVE CUSTOMIZATION IMPRINTS IN BLACK: (1) LOGO: BETTER LIVING FOR TEXANS (2) STATEMENT: THIS MATERIAL WAS FUNDED BY USDA'S SUPPLEMENTAL NUTRITION ASSISTANCE PROGRAM - SNAP. (3) DEPARTMENT URL: BLT.TAMU.EDU 				
	ESTIMATED NUMBER OF PALLETS: 3			TOTAL	265,050.00
	VENDOR REF: BECKY JOHNSON BECKY@FRESHBABY.COM PHONE: 231-348-2706				